CI	N				Der		11		1	
reg			3350.	Date - site bills			us	29/0	1/:	24
	Company Name: M			-MLLP. Site:				GMR.		
	Name of Contractor		Janardhan Prosad				۶.			
	ure of work		Tiles		Doste			1	1	
	rk done		n Date		101		Date	26	01	24.
SI.	Villa/Flat/block no) .	Qty.	Rate		Units	Amou	nt		tractors
<u>No.</u>				10		0.55			bill	no
2.	1660 (68%) 31		1128	16		SFT		800		
3.	(217.) Sk	isting	348	16		RFT		568		
4.	1660 (68X.) (214) Sha	Airo	1128	0	4	SFT		1512		
5.	Bathrooms.	A	400					392		
6.	Ceramic.		93.		e 8	SFT		200		
7.	Lesamic		<u>1</u>		0	OFI		.019		
8.	D-101 Hat	•						_/		
9.	floosing tile)		1	
10.	woosten									
11.	Tc	tal:					38	394.	and the same of the same	
Bill re	equired	YE	S NO.		GST	bill requi	red	YES).
	arement &	Ree	quired		Meas	urement	&	Enclo	sed	
estima PO/W	ate sheet:	No	t required		estimate sheet:			Not enclosed		sed
PU/W	U no.			PO/WO date:						
Remar	ks: All		worky	C	PO MA A	ploto	9.			
	(Pierce	4	*		
						an an an tha an				
Approx	ad by Designed M									
	ed by Project Man		Approv	Approved by Design Team			App	Approved by M.D.		
Date:	2/2/2024	٢	Date:	Date:				Date:		
Sign:	N. L.A.		Sign:				Sig	n.		
Notor 1	human						Jug			

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be tent, within 7 days of completing work, 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors, 3. Wherever not applicable – fill NA, 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIMATE SHEET							
Company Name:	MRMLLP				Appr	oved by:	Narander Reddy
Project:	Gulmohar Residency					Sign:	
Work Description:	4' X 2' flooring tiles and ba	athroom tiles laying in D 101					
Contractor Name:	Janardhan Prasad						
Prepared By	Srinivas.N						
Date:	28.01.24						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	4' x 2' tiles	SBUA 1660sft (68%)	1128.00	Sft	16.00	18,048	
2		Skirting 21%	348.00	rft	16.00	5,568	
		SBUA 1660sft (68%)	1128.00	Sft	4.00	4,512	
		Skirting 21%	348.00	rft	4.00	1,392	
3	Bathrooms	(200sft per toilet)	400.00	Sft	18.00	7,200	
4	Ceramic	(93sft per flat)	93.00	Sft	18.00	1,674	•
						38,394	1

MEASUREMENT S									
Company Name:	MRMULP					Approved by:	Narander Reddy		
Project:	Gulmohar Residency					Sign:			
Work Description:	4' X 2' flooring tiles and bath	nroom tiles laying in D 101							
Contractor Name:	Janardhan Prasad				 				
Prepared By	Srinivas.N				ļ				
Date:	28.01.24				I				
			A	В	С	D	E= AxBxCxD	F	
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	
1	D 101	4' x 2' tiles						sft	
		SBUA 1660sft (68%)	1128.00	1.00	1.00	1.00	and and a manufacture of a second party of a second s		
		Skirting 21%	348.00	1.00	1.00	0 1.0			
	bathrooms	(200sft per toilet)	200.00	1.00	0 1.00	0 2.0			
	Kitchen & utility	(93sft per flat)	93.00	1.00	0 1.00	J 1.0	00 93	3 sft	

Bill for Equipment Allowance

Janardhan Prasad, Mallapur

Date: 28.01.24

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D -	1 xmount
	104 flats at D - block.	Rs.15357 /-
	Total Amount = $38394/-$	IX3.133377-
	Work done from date 05.01.24 to date 28.01.24	

Amount in words: Fifteen Thousand Three Hundred and Fifty Seven Rupees Only.

Sign: _____

Allowance for Consumables

Janardhan Prasad, Mallapur.

Date: 28.01.24

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D	
	101 flats at D - block.	Rs. 7678/-
	Total Amount = $38394/-$	
	Work done from date 05.01.24 to date 28.01.24	

Amount in words: Seven Thousand Six Hundred Seventy Eight Rupees Only.

Sign: _____

Bill for Labour Charges

Janardhan Prasad, Mallapur.

Date: 28.01.24

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

÷

٢

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D -	
	104 flats at D - block.	Rs.15357 /-
	Total Amount = 38394/-	
	Work done from date 05.01.24 to date 28.01.24	

Amount in words: Fifteen Thousand Three Hundred and Fifty Seven Rupees Only.

Sign: _____